( hEEE PR LF)

[iti- DS

X3

H4X

[ w5 | mikmoclmne

|
komachift# (8% (AG) & THE - HR-AARTYME 1t )

omachitt AlK 22,500 24,300 &
? +—5—HR Bik 24,500 26,460
5 ~W75 18,000 19,440
HIE i w78~ 19,000 20,520
ANZRFYFMI | 1,000 1,080
=2 RGET )
- Atk 19400 20,952 &
1|z +—5—MR Bik 22,500 24,300
5 ~W75 17,350 18,738 -
nlﬁ Z’X';{E*f w78~ 18,350 19,818
ANRRFYFMI 1,000 1,080
Ritz—5—R Al -BIE 6,950 7,506
i FHt—5—R Afk-BIE 6,650 7,182
?E'i et ANRFyFEL | 12250 13,230
ARRFVFEY | 13250 14,310
ESL 1,602 1,730 -
gﬂf E#t—5—X=wk S~3L 2,600 2,808 H
$t—5—X=yh S~3L 2,500 2,700
Z—YHE 5,700 6,156 =
- I—FRE 5,700 6,156 =
% S~3L
= 2—YRE()29Y) 8,400 9,072 =
I—FFREWY) 8,400 9,072 m
B —F— S~3L 2,900 3,132 1
S~LL 4,750 5,130 8
[ ZYkRZRE
= 3L 4,850 5,238
S~LL 5,050 5,454 1
—ybt—5—
3L 5,250 5,670
b =
H T #® & R
T HAR PN |
SS~0-X0 5,426
EHL Y 5,860
Y0-Z0 6509 7.030 m
. . SS~0-X0 4,861
fL—=2F 50y 2,290 &
YO0-Z0 5833 6,300 m
SS~0-X0 2,667
HHL S 2.880 -
YO0-Z0 3204 3,460 m
SS~0-X0 3,241
IN—TI 3,500 =
Y0-20 3889 4.200 m

1.2 TLVISHREBE



